Export Excel

Scheme Sale Report

Date: 02-02-2022 05:10 PM

From Date 28/01/2022 - To Date 28/01/2022

Scheme Name	Item Name	Qty	Sale Rate	Total Sale Amount	Purchase Rate	Total Purchase Amount
BOGO	AJWAIN COOKIES (GO)	1	109	109.00	109	109.00
BOGO	ALLO MUTER PUFF	1	25	25.00	25	25.00
BOGO	ALMOND STICKS 250 GM (GO)	1	165	165.00	165	165.00
BOGO	BHAJI PAV 6 PCS	1	32	32.00	32	32.00
BOGO, BOGO, BOGO	BHAJI PAV 6 PCS	3	32	96.00	32	96.00
BOGO	BLACK FOREST PASTRY	3	60	180.00	60	180.00
BOGO	BLACK FOREST TORTE 500 gms.	1	390	390.00	390	390.00
BOGO	BROWN BREAD	1	37	37.00	37	37.00
BOGO	BROWN SLICE BREAD(CRUSTLESS)	6	59	354.00	59	354.00
BOGO	BUTTERSCOTCH PASTRY	3	65	195.00	65	195.00
BOGO, BOGO	BUTTERSCOTCH PASTRY	2	65	130.00	65	130.00
BOGO	CAKE RUSK 250 GM (GO)	1	109	109.00	109	109.00
BOGO	CENTER FILL CHOCOLATE DONUT	1	45	45.00	45	45.00
BOGO	CENTER FILL RED VELVET DONUTS	1	45	45.00	45	45.00
BOGO	CHEESE BREAD	1	24	24.00	24	24.00
BOGO, BOGO	CHINIES PUFF	2	32	64.00	32	64.00
BOGO	CHOCO CHIPS PASTRY	2	80	160.00	80	160.00
BOGO, BOGO	CHOCO CHIPS PASTRY	2	80	160.00	80	160.00
BOGO	CHOCO VANILLA CAKE 500GMS	1	390	390.00	390	390.00

1 of 4

Luxuria

Scheme Name	Item Name	Qty	Sale Rate	Total Sale Amount	Purchase Rate	Total Purchase Amount
BOGO	CHOCOLATE BLACKOUT CAKE 500GMS	1	470	470.00	470	470.00
BOGO	Chocolate blackout pastry	4	85	340.00	85	340.00
BOGO	chocolate cheese pastry	1	95	95.00	95	95.00
BOGO	CHOCOLATE DONUT	5	30	150.00	30	150.00
BOGO, BOGO	CHOCOLATE DONUT	2	30	60.00	30	60.00
водо	FRESH PINEAPPLE CAKE 500GMS	1	390	390.00	390	390.00
BOGO	FRESH PINEAPPLE PASTRY	2	60	120.00	60	120.00
водо	FRUIT CAKE RUSK 250 GM (GO)	5	129	645.00	129	645.00
BOGO	FRUITO BREAD	2	29	58.00	29	58.00
BOGO	GARLIC BREAD 300 GM	4	44	176.00	44	176.00
BOGO	GUD TILL COOKIES 250 GM (GO)	1	109	109.00	109	109.00
BOGO	JEERA KHARI 250 gm	8	75	600.00	75	600.00
BOGO, BOGO	JUMBO BREAD	4	53	212.00	53	212.00
BOGO	KAJU BROWNIE	2	90	180.00	90	180.00
BOGO, BOGO	KAJU BROWNIE	2	90	180.00	90	180.00
BOGO	KAJU OATS 200GM (GO)	1	135	135.00	135	135.00
BOGO	KAJU STICKS 250 (GO)	1	149	149.00	149	149.00
BOGO	KANPURI COCONUT 250 GM (GO)	2	135	270.00	135	270.00
BOGO	LACHA PUFF	4	32	128.00	32	128.00
BOGO	MASHROOM PIZZA	7	60	420.00	60	420.00
BOGO, BOGO, BOGO	MASHROOM PIZZA	3	60	180.00	60	180.00
BOGO	MASHROOM PUFF	1	32	32.00	32	32.00
BOGO, BOGO	MASHROOM PUFF	2	32	64.00	32	64.00
BOGO	MIX FRUIT JAM DONUT	1	30	30.00	30	30.00
BOGO	MULTIGRAIN BREAD	4	44	176.00	44	176.00

2 of 4 2/2/2022, 5:26 pm

Luxuria

Scheme Name	Item Name	Qty	Sale Rate	Total Sale Amount	Purchase Rate	Total Purchase Amount
BOGO	NOODELS PUFF	1	32	32.00	32	32.00
BOGO	OREO BROWNIE 100 GMS	3	90	270.00	90	270.00
BOGO, BOGO	OREO BROWNIE 100 GMS	2	90	180.00	90	180.00
BOGO	OREO PASTRY	1	75	75.00	75	75.00
BOGO	PANEER PUFF	2	32	64.00	32	64.00
BOGO	PLAIN KULCHA	1	29	29.00	29	29.00
BOGO	Pyari KHARI 250 gm	8	70	560.00	70	560.00
BOGO, BOGO	Pyari KHARI 250 gm	2	70	140.00	70	140.00
BOGO, BOGO	Pyari KHARI 250 gm	3	70	210.00	70	210.00
BOGO	RAINBOW PASTRY	3	85	255.00	85	255.00
BOGO	RED VELVET PASTRY	3	75	225.00	75	225.00
BOGO	RICH CHOCOLATE CAKE 500GMS	2	510	1,020.00	510	1,020.00
BOGO	RICH TRUFFLE PASTRY	1	80	80.00	80	80.00
BOGO	ROYAL CHOCOLATE CAKE 500GMS	1	490	490.00	490	490.00
BOGO	ROYAL CHOCOLATE PASTRY	1	75	75.00	75	75.00
BOGO	SANDWICH SLICE BREAD(CRUSTLESS)	9	54	486.00	54	486.00
BOGO, BOGO	SANDWICH SLICE BREAD(CRUSTLESS)	2	54	108.00	54	108.00
BOGO, BOGO, BOGO	SANDWICH SLICE BREAD(CRUSTLESS)	3	54	162.00	54	162.00
BOGO, BOGO, BOGO	SANDWICH SLICE BREAD(CRUSTLESS)	4	54	216.00	54	216.00
BOGO	STRAWBERRY DONUT	1	30	30.00	30	30.00
BOGO	SUGARFREE MULTIGRAIN 250 GM (GO)	1	179	179.00	179	179.00
BOGO, BOGO	SWEET BUN	2	13	26.00	13	26.00
BOGO, BOGO, BOGO	TIL BURGER4"	4	34	136.00	34	136.00

3 of 4 2/2/2022, 5:26 pm

Luxuria

Scheme Name	Item Name	Qty	Sale Rate	Total Sale Amount	Purchase Rate	Total Purchase Amount
BOGO	VADA PAV 6 PCS	2	32	64.00	32	64.00
BOGO, BOGO	VADA PAV 6 PCS	2	32	64.00	32	64.00
BOGO	VANILLA DRY CAKE	1	110	110.00	110	110.00
BOGO	WHEAT ALMOND NANKHATAI 300 GM (GO)	4	120	480.00	120	480.00
BOGO	WHEAT BREAD	4	37	148.00	37	148.00
BOGO, BOGO	WHEAT BREAD	4	37	148.00	37	148.00
BOGO, BOGO	WHEAT PIZZA BASE 8"	2	39	78.00	39	78.00
BOGO	WHEAT PYARI KHARI	3	79	237.00	79	237.00
BOGO, BOGO	WHEAT PYARI KHARI	2	79	158.00	79	158.00
BOGO	WHEAT RUSK 250 GM (GO)	6	55	330.00	55	330.00
BOGO, BOGO	WHEAT RUSK 250 GM (GO)	2	55	110.00	55	110.00
BOGO	WHEAT VADA PAV 6 PCS	2	37	74.00	37	74.00
BOGO	WHITE BREAD	3	33	99.00	33	99.00
BOGO	WHITE FOREST PASTRY	3	60	180.00	60	180.00
	Total	204.00		14,388.00		14,388.00

Final				
Total	204	14,388.00	14,3	388.00

4 of 4 2/2/2022, 5:26 pm